y=4x-9 y=4x-6

Which lines are y=-1x-6
parallel? 4
perpendicular?

y=6x-6 y= 1x-6
4



“_-:mx"'n — ]

3 2 v
The equation 1s said to be in

Slope-Intercept Form
* m = Slope
* b = y-intercept

(@


http://www.purplemath.com/modules/slopgrph.htm

ind the Slope and ntercen

1) ¥y= Sx+4

~)
tovet Stope(m): -5/ |

| ) yeintercept(b): 1




2) Graph the following
equation.

2y =6x+
2y =bx+4

g o

=

7
4

~S<
Slope(m): 3 / | run

\> y-intercept(b): Fd




3) a) Graph the foIIowmg equation.

y+ 3= 1/2x+7—-3

T Y

1

)/3

b) ~ State the paralllel
slope of the equation.

Slope(m): yQ

y-intercept(b): "!~



4) State the perpendicular
slope of the equation

f\4) 4x - 8




5) a) Graph the following equation.
3-5x=3y-6 - .

4= ~5x+3 X

b) State the perpendicular Slope(m):§5/3

| f th tion.
slope (lr éequa lon 2 y-intercept(b): 3—
S



6) State the parallel
slope of the equation

44
;”§= 3X - 6‘f

4
_%\
Y @
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